=3 | - L= | =

5) 6) 7) 8)
V64 = VO = V49 = JVidd =
9) 10) 11) 12)

V100 = V36 = V16 = V225 =
13) 14) 15) 16)

V169 = | V121 = V196 = 9 =
17) 18) 19) 20)

2% = 4 42 = 02 = 32 =
21) 22) 23) 24)

12 = 52 = 10% = 82 =
25) 26) 27) 28)

7 = 92 = 12% = 11% =
29) 30) 31) 32)

15% = 13% = 14% = 2% =

WHat KeepS a tree iN pLace?

Copyright 2011, Fun-Math-Worksheets.com
Permission is granted to copy this page for non-commercial use.



13

49

= 225

ANSWERS
3)

2)

V4 = 2 V81 = 9

6) 7)

VO =0 V49 = 7

10) 11)

V36 = 6 V16 = 4

14) 15)

V121 =11 /196 = 14

18) 19)

42 = 16 02 = 0

22) 23)

52 = 25 102 = 100

26) 27)

92 = 81 122 = 144

30) 31)

132 = 169 142 = 196
Square RootS]
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4)
Vi=1

8)

V144 = 12

12)

V225 = 15

16)

V9

64

28)

112 = 121

32)

22 =4



